Solutions

Chapter 8

8.1 T=15.71mS

8.3 v(t) leads i(t) by 140 degrees

8.5 vy (t) leads i;(t) by -45 degrees, v,(t) leads i,(t) by 160 degrees
Chapter 9

9.3 P=0W

9.5  P=336.11W, i)(t) = 5.64 cos(100t + 41.18°) A
9.6 P=149.99 W

9.7 Pig=9.98W, P1y00 = 7.48W, Pygq = 2.49W, P =0W, P = OW
9.9 Pis =27.49W, P;q = 10.56W, P,qu = 16.97W
9.11 Ps = 8.66W, Py, =41.35W,

9.44 Vs = 4.47V

9.45  lms =2.35A

9.47  lms = 6.46A

9.48  lms=1.53A

9.49 Vs =3.87V

9.51 I =0.94A

Chapter 1

1.1 Q=72C

1.3 Q=1.5C

1.5 Q=135C

1.7 Q=43.2KC

1.9 i(t)=2A 0<=t<=0.5s

111 W=622.04mlJ



1.13 W=5.99])

1.15 (a)Q(4.5)=0C, (b)P(5.5)=12 W, (c)W =12
1.19 (a)l=4A,(b)P=-24W

1.21 P1=8W,P2=32W

1.23  (a) P, =18 W absorbed, (b) P, = 12 W absorbed
1.25 P, =48 W absorbed

1.27 P,=7 W absorbed, Is=3.5A

1.31  (a) P,a =40 W supplied, P, =12 W absorbed, P14, = 28 W absorbed, (b) P4» = 64 W supplied, P; =
32 W absorbed, P,, =32 W absorbed

1.37  Pyev =30 W absorbed, Pgy = 18 W absorbed, Pss = 144 W supplied, V5. 8V, Pys = 48 W absorbed,
Pgy =48 W absorbed

Chapter 2

2.1 P12g=6.75W

2.3 Pr=48 W

2.5 Ry = 5 KQ

2.7 Pamp=9 W

211  1,=10mA, I; =10 mA
213 1,=12mA, I, =6mA
2.15  I,=2mA

217  1o=3mA, l;=-2mA
219 Vg =8V

221  Vi=-8V,Vic=-6V
229 Vgpp=6V

231 Vp=-4V

233 Puy=4mW, Py =-2 mW

239 lpb=6mA
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V1 =1.18V, P4ma = 4.72 mW, Pya =-2.36 mW

lo=4.5mA

Rag = 3 KQ

Rag = 3 KQ

Rea=7.20Q

1) Req=3.610Q,2)Req=3.11Q,3) Reqg=4.5Q, 4) Req = 26.5Q, 5) Reg = 16.5Q, 6) Reg = 14.5 Q
7)Req=10Q, 8) Req =12 Q, 9) Reqg = 13.61 Q, 10) Rgq =15.11 Q
a) Ruin =950 Q, Ryax =1050 Q, b) Ryin =460.6 Q, Ruax =479.4 Q, c) Ryin = 19.8 KQ,
Rmax = 24.2 KQ,

Vag=6V, Vpc=-8V

lo =6 mA

Lb=1A1,=1A,13=05A,1;,=05A,V;=5V
Lb=6/5A,1=4/5A,1,=3/5A, Vpg=-6V

Vi=-7.2V

Vs=9.5V

V=30V

s=3A

Is=2mA

V=36V

Ix=13.75A,Vx=425V

la=-26 mA

la=42 mA

Vy=18V

Re=2KQ,Vp,=-10V

lb=1.29A



299 Vy=3.42V



